

мена анометричне

$$\int f(g(x)) \cdot g'(x) dx = \int_{t=g(x)} f(t) dt$$

написування універсально

$$\int u(x)v(x) dx = u(x)v(x) - \int v(x)u'(x) dx$$

$$\textcircled{1} \int x^2 \sin(1-x) dx = \begin{cases} u = x^2 \rightarrow du = u'(x) dx = 2x dx \\ dv = \sin(1-x) dx \\ v = \int \sin(1-x) dx = \int_{t=1-x} \sin t dt = -\int \sin t dt = \cos t = \cos(1-x) \end{cases}$$

$$\begin{aligned} &= x^2 \cos(1-x) - 2 \int x \cos(1-x) dx = \begin{cases} u = x \rightarrow du = dx \\ dv = \cos(1-x) dx \Rightarrow v = -\sin(1-x) \end{cases} \\ &= x^2 \cos(1-x) - 2(-x \sin(1-x) + \int \sin(1-x) dx) = \\ &= x^2 \cos(1-x) + 2x \sin(1-x) - 2 \cos(1-x) + C \end{aligned}$$

$$\int p(x) \sin(ax+p) dx = \begin{cases} u = p(x) \\ dv = \sin(ax+p) dx \\ \cos(ax+p) \end{cases}$$

$$\textcircled{2} \int x^n \ln x dx = \begin{cases} u = \ln x \rightarrow du = \frac{1}{x} dx \\ dv = x^n dx \rightarrow v = \frac{x^{n+1}}{n+1} \end{cases} = \frac{x^{n+1}}{n+1} \ln x - \int \frac{x^{n+1}}{n+1} \cdot \frac{1}{x} dx =$$

$$= \frac{x^{n+1}}{n+1} \ln x - \frac{1}{n+1} \int x^n dx = \frac{x^{n+1}}{n+1} \ln x - \frac{1}{(n+1)^2} x^{n+1} + C$$

$$\int p(x) \ln q(x) dx = \begin{cases} u = \ln q(x) \\ dv = p(x) dx \end{cases}$$

$$\textcircled{3} \int e^{\sqrt{x}} dx = \begin{cases} u = e^{\sqrt{x}} \rightarrow du = e^{\sqrt{x}} \cdot \frac{1}{2\sqrt{x}} dx \\ dv = dx \rightarrow v = x \end{cases} = x \cdot e^{\sqrt{x}} - \int \sqrt{x} e^{\sqrt{x}} dx = \begin{cases} t = \sqrt{x} \\ dt = \frac{dx}{2\sqrt{x}} \end{cases}$$

$$= x \cdot e^{\sqrt{x}} - \int t^2 e^t dt = x \cdot e^{\sqrt{x}} - 2 \int t e^t dt = x \cdot e^{\sqrt{x}} - 2 \int t e^t dt = x \cdot e^{\sqrt{x}} - 2t e^t + 2e^t + C$$

$$\int t^2 e^t dt = \begin{cases} u = t^2 \rightarrow du = 2t dt \\ dv = e^t dt \rightarrow v = e^t \end{cases} = t^2 e^t - 2 \int t e^t dt = \begin{cases} u = t \rightarrow du = dt \\ dv = e^t dt \rightarrow v = e^t \end{cases}$$

$$= t^2 e^t - 2t e^t + 2 \int e^t dt = t^2 e^t - 2t e^t + 2e^t + C$$

$$\textcircled{4} I_n = \int x^n e^x dx = \begin{cases} u = x^n \rightarrow du = nx^{n-1} dx \\ dv = e^x dx \rightarrow v = e^x \end{cases} = x^n \cdot e^x - n \int x^{n-1} e^x dx = x^n \cdot e^x - n I_{n-1}$$

$$I_1 = x e^x - e^x + C_1$$

$$I_2 = x^2 e^x - 2I_1 = x^2 e^x - 2x e^x + 2e^x + C_2$$

$$I_3 = x^3 e^x - 3I_2 = x^3 e^x - 3x^2 e^x + 2 \cdot 3 x e^x - 2 \cdot 3 e^x + C_3$$

...

$$I_n = x^n e^x - n x^{n-1} e^x + n(n-1)x^{n-2} e^x - n(n-1)(n-2)x^{n-3} e^x + \dots + (-1)^{n-k} \frac{n!}{(n-k)!} x^{n-k} e^x + \dots + (-1)^n n! x^0 e^x + C_n$$

$$= e^x \sum_{k=0}^n \frac{(-1)^k k!}{(n-k)!} x^{n-k} = e^x \sum_{i=0}^n (-1)^{n-i} \frac{n!}{i!} x^i, \quad n \in \mathbb{N}$$

PMU ... -gokazawu ga je ovo zancwa wazno!

$$\rightarrow t \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right) \Rightarrow \cos t > 0$$

$$\textcircled{5} I = \int \frac{x e^{\arctg x}}{(1+x^2)^{3/2}} dx = \begin{cases} t = \arctg x \rightarrow x = \operatorname{tg} t \\ dt = \frac{dx}{1+x^2} \end{cases} = \int \frac{\operatorname{tg} t \cdot e^t}{(1+\operatorname{tg}^2 t)^{1/2}} dt = \int \frac{\operatorname{tg} t}{\frac{1}{\cos^2 t}} e^t dt = \int \frac{\operatorname{tg} t}{1} e^t dt = \int \frac{\sin t}{\cos t} e^t dt = \int \sin t e^t dt$$

$$\begin{cases} u = \sin t \rightarrow du = \cos t dt \\ dv = e^t dt \rightarrow v = e^t \end{cases} = e^t \cdot \sin t - \int e^t \cos t dt =$$

$$\begin{cases} u = \cos t \rightarrow du = -\sin t dt \\ dv = e^t dt \rightarrow v = e^t \end{cases} = e^t \sin t - \cos t e^t - \underbrace{\int e^t \sin t dt}_{-I + C}$$

$$2I = e^t \sin t - \cos t e^t + C$$

$$I = \frac{e^t \sin t - e^t \cos t}{2} + C_1 = \frac{e^{\arctg x} \sin(\arctg x) - e^{\arctg x} \cos(\arctg x)}{2} + C_1$$

$$t = \arctg x \\ t \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right) \Rightarrow \cos t > 0$$

$$\textcircled{6} \int \arcsin^2 x dx = \begin{cases} t = \arcsin x \rightarrow x = \sin t \\ dt = \frac{1}{\sqrt{1-x^2}} dx \end{cases} = \int t^2 \cdot \cos t dt$$

$$x \in (-1, 1)$$

$$dx = \sqrt{1-x^2} dt$$

$$= \sqrt{1-\sin^2 t} dt = \sqrt{\cos^2 t} dt$$

$$= |\cos t| dt = \cos t dt$$

$$\begin{cases} u = t^2 \rightarrow du = 2t dt \\ dv = \cos t dt \rightarrow v = \sin t \end{cases}$$

$$\begin{cases} u = t \\ dv = \sin t dt \rightarrow v = -\cos t \end{cases}$$

$$= t^2 \sin t - 2 \int t \sin t dt =$$

$$= t^2 \sin t + 2 \cos t \cdot t - 2 \int \cos t dt = t^2 \sin t + 2 \cos t \cdot t - 2 \sin t + C$$

$$= t^2 \sin t + 2 \cos t \cdot t - 2 \sin t + C$$

$$= (\arcsin x)^2 \underbrace{\sin(\arcsin x)}_x + 2 \arcsin x \cdot \underbrace{\cos(\arcsin x)}_{\sqrt{1-x^2}} - 2x + C$$



$$\arcsin(\sin x) = \begin{cases} x - 2k\pi, & x \in [-\frac{\pi}{2} + 2k\pi, \frac{\pi}{2} + 2k\pi] \\ (\pi - x) - 2k\pi, & x \in [-\frac{\pi}{2} + (2k+1)\pi, \frac{\pi}{2} + (2k+1)\pi] \end{cases}$$

$$\sin(\arcsin x) = x \in (-1, 1)$$

$$\int \frac{P(x)}{Q(x)} dx$$

$$\deg P \geq \deg Q \Rightarrow P(x) = S(x) \cdot Q(x) + R(x), \quad \deg R < \deg Q$$

$$Q(x) = x \cdot (x-a_1)^{\alpha_1} \dots (x-a_k)^{\alpha_k} \cdot (x^2+c_1x+b_1)^{\beta_1} \dots (x^2+c_lx+b_l)^{\beta_l}$$

$$(x-(a+ib))(x-(a-ib)) = (x^2 - 2ax + (a^2+b^2))$$

$$\alpha_1 + \dots + \alpha_k + 2\beta_1 + \dots + 2\beta_l = \deg Q$$

$$\frac{R(x)}{Q(x)} = \frac{A_1^1}{x-a_1} + \frac{A_1^2}{(x-a_1)^2} + \dots + \frac{A_1^{\alpha_1}}{(x-a_1)^{\alpha_1}} + \frac{A_2^1}{x-a_2} + \frac{A_2^2}{(x-a_2)^2} + \dots + \frac{A_2^{\alpha_2}}{(x-a_2)^{\alpha_2}} + \dots + \frac{A_k^{\alpha_k}}{(x-a_k)^{\alpha_k}} + \frac{B_1^1x+C_1^1}{(x^2+c_1x+b_1)} + \frac{B_1^2x+C_1^2}{(x^2+c_1x+b_1)^2} + \dots + \frac{B_l^{\beta_l}x+C_l^{\beta_l}}{(x^2+c_lx+b_l)^{\beta_l}}$$

$$A_1^1, A_1^2, \dots, A_k^{\alpha_k}, B_1^1, C_1^1, \dots, B_l^{\beta_l}, C_l^{\beta_l} \in \mathbb{R}$$

$$\textcircled{1} \int \frac{3x^2+x+1}{(x^2-4x+4)(x^2-4x+5)} dx$$

$$P(x) = 3x^2+x+1 \quad \deg P = 2$$

$$Q(x) = (x^2-4x+4)(x^2-4x+5) \quad \deg Q = 4$$

$$Q(x) = (x-2)^2(x^2-4x+5) \Rightarrow \beta_1=1$$

$$\frac{P(x)}{Q(x)} = \frac{A_1^1}{x-2} + \frac{A_1^2}{(x-2)^2} + \frac{B_1^1x+C_1^1}{x^2-4x+5} = \frac{A_1^1(x-2)(x^2-4x+5) + A_1^2(x^2-4x+5) + (B_1^1x+C_1^1)(x-2)^2}{(x-2)^2(x^2-4x+5)}$$

$$P(x) = 3x^2+x+1 = x^3(A_1^1+B_1^1) + x^2(-4A_1^1-2A_1^1+A_1^2-4B_1^1+C_1^1) + x(8A_1^1+5A_1^1-4A_1^2+4B_1^1-4C_1^1) + x^0(-10A_1^1+5A_1^2+4C_1^1)$$

$$A_1^1 + B_1^1 = 0 \rightarrow A_1^1 = -B_1^1$$

$$\begin{aligned} -6A_1^1 + A_1^2 - 4B_1^1 + C_1^1 &= 3 \\ 13A_1^1 - 4A_1^2 + 4B_1^1 - 4C_1^1 &= 1 \\ -10A_1^1 + 5A_1^2 + 4C_1^1 &= 1 \end{aligned} \rightarrow \begin{aligned} -2A_1^1 + A_1^2 + C_1^1 &= 3 \\ 9A_1^1 - 4A_1^2 - 4C_1^1 &= 1 \\ -10A_1^1 + 5A_1^2 + 4C_1^1 &= 1 \end{aligned} \quad \left. \begin{array}{l} \cdot 4 \\ \cdot -4 \end{array} \right\}$$

$$-2A_1^1 + 4^2 + C_1^1 = 3 \Rightarrow C_1^1 = 3 - 15 + 26 = 14$$

$$\boxed{A_1^1 = 13}$$

$$B_1^1 = -13$$

$$-2A_1^1 + A_1^2 = -11 \Rightarrow A_1^2 = -11 + 2 \cdot 13 = 15$$

$$\int \frac{3x^2 + x + 1}{(x-2)^2(x^2-4x+5)} dx = 13 \int \frac{dx}{x-2} + 15 \int \frac{dx}{(x-2)^2} + \int \frac{-13x+14}{x^2-4x+5} dx$$

$$13 \ln|x-2| + C_1 + 15 \frac{(x-2)^{-1}}{-1} + C_2 + I_3$$

$$I_3 = \int \frac{-13x+14}{(x-2)^2+1} dx = \int \frac{-13t-26+14}{t^2+1} dt = \int \frac{-13t-12}{t^2+1} dt$$

$$= -13 \int \frac{t dt}{t^2+1} - 12 \int \frac{dt}{t^2+1} = -\frac{13}{2} \ln(t^2+1) - 12 \arctan t + C_3$$

$$= -\frac{13}{2} \ln(x^2-4x+5) - 12 \arctan(x-2) + C_3$$

$$I = 13 \ln|x-2| - \frac{15}{x-2} - \frac{13}{2} \ln(x^2-4x+5) - 12 \arctan(x-2) + C$$

②  $\int \frac{2x^2+2x+13}{(x-2)(x^2+1)^2} dx$

$$P(x) = 2x^2+2x+13 \rightarrow \deg P = 2$$

$$Q(x) = (x-2)(x^2+1)^2 \rightarrow \deg Q = 5$$

$$\frac{2x^2+2x+13}{Q(x)} = \frac{A}{x-2} + \frac{Bx+C}{x^2+1} + \frac{Dx+E}{(x^2+1)^2} = \frac{A(x^4+2x^2+1) + (Bx+C)(x-2)(x^2+1) + (Dx+E)(x-2)}{(x-2)(x^2+1)^2}$$

$$x^4: A+B=0 \rightarrow B=-A$$

$$x: -2B+C-2D+E=2$$

$$x^3: -2B+C=0 \rightarrow C=-2A$$

$$x^0: A-2C-2E=13$$

$$x^2: 2A+B-2C+D=2$$

$$\begin{cases} 5A+D=2 \\ -2D+E=2 \\ 5A-2E=13 \end{cases} \cdot (-1)$$

$$\begin{cases} 2E+D=-11 \\ E-2D=2 \end{cases} \cdot 2$$

$$5E = -20 \Rightarrow E = -4$$

$$D = -11 + 8 = -3$$

$$5A = 5 \Rightarrow A = 1$$

$$B = -1$$

$$C = -2$$

$$\Rightarrow I = \int \frac{dx}{x-2} + \int \frac{-x-2}{x^2+1} dx + \int \frac{-3x-4}{(x^2+1)^2} dx$$

$$= \ln|x-2| - \int \frac{x dx}{x^2+1} - 2 \int \frac{dx}{x^2+1} + I_3 + I_4$$

$$= \ln|x-2| - \frac{1}{2} \ln|x^2+1| - 2 \arctan x$$

$$I_3 = -3 \int \frac{x dx}{(x^2+1)^2} = \left[ t = x^2+1 \right. \\ \left. dt = 2x dx \right] = -\frac{3}{2} \int \frac{dt}{t^2} = \dots$$

$$I_4 = -4 \int \frac{dx}{(x^2+1)^2} \\ \underbrace{\hspace{10em}}_{I_2}$$

Lemma:

$$I_{n-1} \int \frac{dx}{(x^2+1)^{n-1}} = \left[ u = (x^2+1)^{1-n} \rightarrow du = -(n-1)(x^2+1)^{-n} \cdot 2x dx \right. \\ \left. dv = dx \rightarrow v = x \right] =$$

$$= \frac{x}{(x^2+1)^{n-1}} + 2(n-1) \int \frac{x^2 dx}{(x^2+1)^n} = \frac{x}{(x^2+1)^{n-1}} + 2(n-1)(I_{n-1} - I_n)$$

$$I_n = \frac{1}{2(n-1)} \left( \frac{x}{(x^2+1)^{n-1}} + (2n-3)I_{n-1} \right)$$

$$I_2 = \frac{1}{2} \cdot \left( \frac{x}{x^2+1} + I_1 \right) = \frac{1}{2} \left( \frac{x}{x^2+1} + \int \frac{dx}{x^2+1} \right) = \frac{1}{2} \left( \frac{x}{x^2+1} + \arctan x \right)$$

---  
1)  $\int \frac{dx}{x-a} = \ln|x-a| + C$

2)  $\int \frac{dx}{(x-a)^n} = \frac{1}{(1-n)} \cdot \frac{1}{(x-a)^{n-1}} + C$

3)  $\int \frac{x dx}{(x^2+a^2)^n} = \left[ t = x^2+a^2 \right]$

4)  $\int \frac{dx}{(x^2+a^2)^n} \rightarrow$  lemma...